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3. M : Marks , L: Bloom slevel C: Co

M| L C
Q1 | a 6 | L2 | CO1
b. 7 | L2 | COl
ea 7 | L2 | CO1
L o OR
Q.2 | a. | Show that the curves 1= a(l+sin 6) and T=a(l-sinB) cut each other | 8 | L2 | CO1
orthogonaﬂy ) B
b. | Find the.pedal equation of r" = a(l “ cti’#s nG) 7 | L2 | COl

Using modern mathematical tool “Write a program/c

to plot the curye | 5 | L3 | COS
sine and cosine curve. o

ot

“Module—2____

Q.3 | a. | Using Maclaurin’s series, expand V1+sin 2 i_ﬁpewers of x upto the terms | 7 | L2 | COl

4
X .

L2 | CO1
b, | If U= e“’”byf(ax ~ by) prove that b?ll—-k a—qg— = 2abU 6 0
o5 0y y
¢. | Find the extreme values of the ﬁmctlom sin X + sin y + sm(x +y). 7 | L3 | CO1
8 L2 | CO1
Q4 | a
b. 16U 10U 18U 7 | L2 | CO1

e s,

20x 30y 4oz
: “w,rlte a program/code to evaluate | 5 | L3 | COS5

c. Usmg modem maithematlcal too

Lt [1 + 5] v M
X —»0 X
dy ¥ __ 26 6 | L2 | CO2
; a. | Solve —+==X"y .
e x0T
Find the orthogonaltra'ectories of the family r=a(l +sin0). 7 | L3 | CO2

¢. | Find the solution . of the equation X (y Px)=P?y by reducing into | 7 | L2 | CO2

Clairaut’s form usmg the substitution X =x°, Y =y%.
OR
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Q.6 %M@W9ymﬁMM&WWO 6 | L2 | CO2
A voltage Ee™ is applied at t = 0 to a circuit of mductané and resistant | 7 | L3 | CO2
R. Find the current at any time t given that the current 18 i
t=0.
Solve x(y')* — (2x + 3y)y’ + 6y =0. 7 |12 ]CO2
’ Module — 4
Q.7 i) Find the last digit in 7°%. ' 7 | L2 | CO3
6 | L2 | CO3
7 | L2 | CO3
Q.8 Solve the set of s1multaneog 7 | L2 | CO3
=1(mod1 1)
Solve 7x+3y= IO(mociIﬁ 72X + 5y =9(mod16) i . 6 | L2 |CO3
Show that 2°" — 1 i is. dl\& sle by 31, using Fermat’ 'S fittle theorem. 7 | L2 ]| CO3
- Module -5 -
Q.9 Find the rank of the ihatnx 6 | L2 | CO4
7 | L3 | CO4
X+y+z=8, —X—-y+
Using Raylelgh’s power: niethod find the® 7 | L3 | CO4
corresponding elgen vector of the matrix
Q.10 Solve the system of equation by using Gauss ehminatlon method. 8 | L3 | CO4
xE2y+z=3, 2x+3y+§z 10 :
7 | L3 | CO4
5| L3|COS

™ axadydz=l
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